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1) u(0,u) = £,(»), y €[0,b]; 2)u(a,y) = f,(»), ¥ €[0,b]; 3)u(x,0) = f;(x), x €[0,a]; 4)u(x,b) = f,(x),x€[0,d]
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£1(0) = £5(0), £1(0) = 1,(0), £,0) = fi(a), f,(b) = f,(a).

x, =ih,i=012,.,n, y, = jl, j=012,.,m,
X, =nh=a,y, =ml=>0
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(1.5) Uy = Wy ; +uy U, )/ 4, / - \
uiO = f3 ('xi)a ui,m = f4 ()Cl-), uoj = fl(yz)D Mnj = fz (yi)a i-1, ij | i+1.j

i=0,1,2,...,n-1, j=0,1,2,...,m-1.
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#include <iostream>
#include <cmath>
#include <iomanip=>
using namespace std;
double p(double x)

{

return exp(x);

H
double q(double x)

{
return x/2;
¥
double f{double x)

{

return x * x;
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double v[50];
double u[50];
double y[50];
double a.b.aa.bb.t,c.d.a0.al.b0.,bl . x h.rl.r2;
int 1,j.n;

int main()

{

cout << "a, b, h=";

cin >> a,b_h;

cout << " serhed emsal = ";
cin >> a0.al.c.bO,bl.d;
rl:=h*h:r2:=h/2u[0]:=-al/(aO0*h-al);
v[O]:=c*h/(a0*h-al);
x:=an:=trunc((b-a)/h);

for (int 1=0;1<=n-1; ++1)
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{ {
xi=xthit=(2+p(x)*h)/(2*11); y[il:=VIil+ulil*y[i+1]; x=a;
aa:=(2-p(x)*h)/(2*r1);bb:=-(2-q(x)*r1 )/r1; j

for (int 1= 0; 1 <= n; ++1)

{

cout << fixed << setprecision(4) << x << "\t" << fixed <<

u[1]:=-t/(aa*u[1-1]+bb);
v[1]:=(f(x)-aa*v[i-1])/(aa*u[1-1]+bb);

j setprecision(4) << y[i] << endl;
v[n]:=(d*h+v[n-1]*b1)/(b0*h+bl-bl*u[n-1]); x=x+h;
yln]:=v[n]; }

for (int i =n-1; i>=0; --i) }







